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WORKSHEET -2
GRADE: 8 - ANNUAL EXAMINATION 2020 -21

SUBJECT: SOCIAL SCIENCE
BLOCKS-19,27, 28 & 29

Choose the correct answer.
1. The term used for event in which large number of losses occurs to life and property:
(a) Toxic (b) Poisonous
(c) Disaster (d) Vulnerable
2. What is the term used for a ten-year old child working in a factory?
(@) Child labour (b) Factory worker
(c) Builder (d) All of these

3. The highest density of the population in the world is in

(a) Europe (b) South America
(c) South central Asia (d) None of these
4. Movement of people in and out of an area is called
(@) Migration (b) Death rate
(c) Birth rate (d) Growth rate
5. What is cultivation of grapes called’?

(a) Sericulture (b) Viticulture
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6. Which of the following country is a leading producer of rice?
(@) China (b) Pakistan
(c) Malaysia (d) Egypt
7. Change of raw materials into products of more value to people is called...
(a) Manufacturing (b) Resources
(c) Population (d) None of these
8. Which of the following is a private sector industry?
(a) Hindustan Aeronautics Limited  (b) Tata Iron and Steel Industry

(c) Steel Authority of India (d) National Thermal Power Corporation

Matchthefollowing

a) Producer : 1) Manufacturer

b) Pollution : i) Vehicles, power stations
c) Farmer : 1ii) Not pure

d) Air pollution  : Iv) Farm worker

e) Water pollution : v) Dirty water

Answerthefollowingquestions

1. Dev works in a leather factory. He works every day of the week for 12hours per day, but he
earns wages only on 5days of the week. Is Dev being exploited by his employer? How? What

will help workers like Dev to not be exploited by their employer?
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2. Why are some labour and safety laws not strict enough in India?

3. Explain why India has higher active population unlike other developing countries?

4. Compare and contrast the population pyramid in India and Japan in 2015.
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5. Explain the major features of the following?

* Commercial farming

*Intensive subsistence farming

6. Why sugar cane is considered as cash crop, while rice is not?

7. What are the main factors that affect the location of industries?

8. What are IT industries at risk from? Give one example of a threat to the IT industry.




5. Mark the five most populated countries in the world on the map. Also mark the country with
the highest population as 1 along with its name.
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